
D

D

t.rs\ 18C551

Fifth semester B.E. Degree Examinationo July/August zazz
Management and EntrepreneurCt,r, for IT Industry

Note: Answer any FIVE full questions, choosing ONE futt question from each module.

Module-l
I a. Define Management. Explain different functions of management. (10 N,tarks)

b I:xplain tlrc gcrreral princrp rstrativc maniigerne nt thcorv as Iairi riuun br,' Ilctrri
fayol.

imporlance

(10 \lart's)

OR
2 a Explain the steps involved Mention the and puupose of planning

prOcess (10 \larli:)
b. De{lne line and sta w itlr its advantages u nil

d isadvantages. (05 )larl*)
c Deflne Selection the sources of Recruttment (05 \larkst

N'lgdule-2
a I)r:llne Motrr,,ation. Irxltlarn Ilerzbcrg's two lhrrtor theory to heilt;t ntaltagcl.to rnolivatc lri,
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les o f' admin

in planning

-!

suir-orcl r nates.
Deflne l-eadership. lJxplarn varrous leadership

OR
diffbrent methods

drection.

control.

(10 \lari.'')
(10 NIarli.rl

(10 Marks)
(05 Marks)
(05 Marks)

Lr

d.

b
().

stllle s

of4 Deflne Control. Explain the
Deflne co-ordination. rvhat rs the need ior c ?

Lxplain the recluirernents of effective

(10 N'larlis)
(10I{ar lis)

(l0 \Iarhs)
(05 \llrks)
(05 \l:trlic)

(10 \lrrl,st

((15 \lur l*:
rr) llurnan l{csourccs. ((}5 \lrirt,rl

OR
a. Defrne ERP. Explain importance and charactenstics o1'[:RP. (10 tlarks)
b. Explain the steps involved in fbrmulation of project report. (10 \rarts)

a'DiscusstIrecasestudyofNRNaray.ffi*In1bsys)anc1Captain(l.R.Goprnath.
(10llarlis)

b Irrplain the steps in cstahlishing nricro and srnall cntcrpriscs (10 \tar lirr

oR
a. Explain the lbllorvrng: i) NSIC ri) DIC iii) KSI;Cl iv) KIADt3 v) ll:(.SOl(. (r0Itarri-r)
b l:xplain trademarl<. copyrrght und Our.Jl.t* 

* * 
(10 )rarks)
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ly it to the following graph fRefer Fig. Q5(a)l with
path tree and the fbrwarding table {or norlc "[,".

(10 )larl'-r)

format. Mention the significance of each field
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5 a. Wrire Link
SOLITCE ' Draw the

Fig Qs(a)

b. Draw IPV4 datagram

I of 2

(10 Marks)

F'ifth Semester B.E. Degree Examination, July/August 2022
Computer Networks and Security

Time: 3 hrs. Max. Marks: 100

Note: Answer any LIVE full questions, chiiosing ONE fult question from each module.

Module-1
1 a. L,xplarn the steps involved in transferring a web page lrom sorvcr to chent in casc of II'l-'l I'

with non - pcrsistcnt connection. Also brief the Back o1'the Irnvelope calcLrlation fbt'tint.'
needed to request and receive the llle. (10 Nlarks)

b. Consider an e - commerce site that wants to keep a purchase recorcl fbr each ol'rlr
cr-rstomers. Describc withneat dragram how this can be done with cookics. (10IIarksl

OR
2 a. Explain with neat diagram, the socket related activity of client - server cott.uttunicatrolt u\cl

the TCP along with client and server code. (10 l'larlis)

b. f".xplarn t'TP with its Commands and Replies. (10 ]larlis)

J

Module-2
a. Describe the various flelds oitJDP scgrnent structure. Suppose you hal'e thc foilou'iltg tltlce

16-bitwords0l10011001100000, 0 I 0 I 0 1 0 I 0 1 0 I 0 1 0 l, 1000111100001100
Find the checksum. How does the recerver detect errors? is it possible that 1 - bit errors u,ill
go undetected? (10 llarks)

b. Explain Sender and Receiver side Finite State Machine (FSM) representation for rdt 2 I

protocol. (10 Nlarks)

OR
4 a. DrawTCP Segment slructure. Descrrbe the various llelds ol"l'CP segrnent structlrre.

( l0 l Iarl.s r

b. f:xplain wrth neat diagram, the causes and costs of congestion considering thc fbllowing
scenarios.
Scenario i . Two sender , A ftouter , with Inlinite Buflbr.
Scenario 2 . Two sender , A Router , with Finite Br-rffer. (10 i\Iarks)
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(10 Marks)

(10 Marks)

OR
6 a. Writc clistancc Vector Routing Algorithm and

II{ef'cr Fig. Q6(a)].

Fig Q6(a)

b [)rau II'}V6 ciatagram lornrat

app thc lollolr ing gruplrIy it t<r

signiticarrcc o

7a.

:

f each field.

Module-4

Also rnention

ion Initiation Protocol (SIP) Call establishment

the three kcv distinguishrng
(10 \'larks)
(10 }Iarks)

b

tl a

I

10a

IVI - t) u'e choose a = 3 and b: ll. Find the Public ancl Private keys tbr thrs sccLrntv aclior-r

and shou, the Cipher text. (10 \tarks)
h. Wiite sh()rt notes on :

i) Security Implernentation in wireless I[]11E 802.11.
ii) F'rrewalls. (.10 }Iarks)

Module-5
a. lrrplain hor.v DNS Redilects 

^ 
L]r".'ilffiilf a CDN Server. (10 ]Iarks)

b. l:xplarn R'l'P Basics anci ll'l'l) paerket Header tlelcls. (t0 \,Iarlis)
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c. Exp

Faculty ([]lD, ]rNAM[i, l-MENI', DIrSI CINA'I ION, SAt.AI{ \' )

for the course 'CS 54'
salar-v of the facLrltics elbovc I{s. I 0.000
the course"ClS -51 

' ancl hai'ing 'B' glaclc
(06 llarl.r)

les rn SQL. (i) INSIrlf.l conlrranci (ri) t ll'}DA I'[.; r:onlnancl (0.1 ]tarl.s)

Clourse (CID,

lain wrth examp
i ol'2

ri)

s

USN 1ncss3

Fifth Semester B.E. f)egree Examinafion, July/August 2022
Database Managemeht QVstem

-firne: 3 l-rrs. Mitx. Marks: l0(l

n"ote: Answer any FIVE Jull questions, choosing ONE full question from eoclt moclule.

Module-l
I a. l)iscLrss thc advanlagcs ol.usrng lhe DI]MS approach. (06 llarl.s)

tr. lrxplain threc-scher-na architecture with a neat diagrarn. Why do u,c need rlapping bctrvccn
schema levels? (06llarlis)

c. E,xplain the component modules of DBMS and their interaction with the help of a diagram.
(08 NIarks)

OR
2 a. Dellne the {bllowing terms.

(i) Weak entity (ii) DBMS catalog (iii) Snapshot
(iv) Value sets (v) (lardinality ratio (vi) I)egrce of a rclationshrp (06 \tartis)

b lrxplain the diffcre trt categorics of data models. (06 \'tnrt .r

c. Write the EI{ diagram fbr an employee database. '['he constraints are as lirllows:
(i) An employec, rvorks lbr a deparlment
(ii) Every departmcnt is headed by a manager
(iri) .\n cmploycc wtrrks on one or more pro.jccts
(iv) An employee has dependents
(v) A deparlment controls the projects (0ti Ntarks)

Module-2
What is nrcant br,'Integrity Constriant? Explain the inrportancc o1'rcltrcntial intcgrrrr
constraint. llorv relerential integnty constraint is intplc-mented in SQI .. (0tt ]tarli.s)
Wrrte the relatronal algebra operations to perlbrrn the lbllowiltg qucrcs
(i) Retneve thc name and address of'all ernployees who work lbr the "Accor.rnts^'

department.
(ii) Retrieve the names of employers who have no dependents.
(iii) Find the names of employees who work on all the pro.iects controlled by departmcnr

number 2. (06 \larksl
Explain the relational algebra operations fionr Set theory. with examples. (06 Ntarks)



5
Ntodule-3

il. llow alc risscrlions and triggcrs dcllncd in SQL/ Explain r,vith cxainplcs
b. [:xplain storcd proccdurcs in SQI- u,ith an cxarnplc.
c. L-ist out and explain the diflbrent typcs of JDBC drivcrs.

18CS53

(08 Marks)
(06 Marks)
(06 Marks)

b.

C.

b

7

b

c

oR.
6 a. What is a three-tier architecture? What ito

architectures? Give a short overview of ionality a
IIow to create views in SQI-? Ilxplarn example
\\'hat is SQI-.le IIorv it is clitl'ercnt liom C'1

8a

9

,ffer over single tier and trvo tier
t each ofthe three-tier. (10 Nlarks)

(06 Nlarks)
(0,1 \larl<s)

2 ol2

(08 Marks)
(08 Marks)
(04 Marks)

Module-4
[rxplain an infbrmal design guidelines for relational schema design.
What is the need lbr normalization? Explain lNF, 2NF and 3NF with examplcs.
\\'hat clo )'ou understand by attributc closure? Ciive an exanple.

OR
What is fLrnctional dependency'? Explain the inf'erence rules fbr functionai depcndency' i,r,,ith

prool. (0tt \{arks)
Dcfine,trNlr When it is violated? Whv is it r-rseful? (06 \rarks)
Considc.r two scts of firnctional depcndenc-v- [i: lA + C. AC -+ D. F. -+ AD. I,r > t{f ancl

C : lA + CD" E -> AH| Are they ecluivalent'? (06 \tarlis.y

Module-5
Why concurrency control is needed? Demonstrate with an example. (10 \Iarks)
Discuss the tINDO and REDO operations and the recovery techniques that use each.

(06 \Iarks)
Erplairr the ACID prrrper-tie s ot'a datahase transactiolt. 104 \turks)

oR
l0 il. [)iscuss lwo-Phase t-ocking'l'echniqr-re 1or concurrencv control. tt0 \tarks)

tl. \\'hcn cicadlock and starvation problem occur'l [::xplain lrow'these problems can bc rcsolved.
(10 NIarks)

*****
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vert the 1bl NDFSM given in

0.

alent DFSM
(08 Marks)

(08 Marks)

complement of
(04 Marks)

(08 Marks)
(05 Marks)

b Clon lowing Fig

t

C
b

Fie Q2(b)
inc that tal<es binary nuntber as inpLlt and produces 2'sC

a

b

Design a tncaly n'tach

the nunrber as oLltput.

3

Module-2
Dcfrnc l{egular expression. Write regular expression for thc following language.

i) L-- {0" 1"'ltr> l,n> l,nrn>3}
ii) L : { ro e {a, b}*:strittg u'ith attnost one pair of consecutive a's}

Obtain NDFSM lor the .cgular expression (a. U ab) (aU b)..

V b

USN 18CSs4

t

Fifth Semester B.E. Degree Examin'ation, July/August 2022

Automata theory and GomPutabilitY

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE fitll questions, ahoosing ONE full qaestion from each module.

Nlodule-l

I a. De trne the fbllori,ing tcrnrs rvith an exermple i) Alphabet ii) Power of an alphabet

iii) String ir') String concatc-ttution r,) liingurige. (05 N[arks)

b. E,rplain tlre hierarcl-ry o1'langualre classcs in autotnata theoty rvith diagraru. (05 NIarks)

c. Dcsign DFSM ftrr each ol'the lbllorving language.

i) L: lt,r e i0.1i :(r) (l()esrlotcnclin 0ll
ii) L - lote la.b].: evcrv a in ro is imnrecliatelypreccded ancl lbliowcd bybl.

(10 N'larks)

olr
2 a. Usc N'liNDF SM algorithtr.i to tlinitlize \4 given in Fig Q2(a)

^
0.

o-

L

a

o

L



a

7 a. Deli,e Turing (TM) Design a TM fbr language
w that thc string 00ll is acceptccl by II)

b
c

Explain mu
Explain any two

with a neat diagrarn.

c. Build a regular cxpression for the given FSM in Fig

O

L-{0,, 1,, ln,

O

18CS54

(07 Marks)

(08 Marks)
(05 Marks)

(07 Marks)

(05 Marks)

SIS gramrnar'/
(08 Marks)

(07 Marks)

(07 NIarks)

(08 Marks)

(05 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

4

5

6

fbr "l'M constrllction.

0,1

Fig Ql(c)

OR
State and prove punrping Lemma theore m tor re gulat ianuuage.

Provc that rcgular languages are closccl undcr con-illlclr-iellt.

Write regular expression. regular gramlner and FSM fbr tlte latnguages

L: { o e .{a, b]* : u,ends r,vith pattem aaaa}.



OR
8 a. Desisn a 'l'N4 lbr thc laneuage L - I l'' l'' 3'' n)

by IT)

b. Dcr-r-ronstrate the nrodel of Lincar Botrncled

9 a. Shou, lhttt A111,1 is decidable.
b. Dcllne Po st Corrcsl-lonclcnce

18CS54

that the string | 12233 is acccpted
(12 Marks)

(LBA) rvith a neat diagram (08 Marks)

v: (b -)
. ba. b) havc a solu

(05 Marks)

Does the trvo list x - (b, bab3. ba)
(08 Marks)
(07 Marks)

(05 Marks)

a solution. (05 Marks)
(10 Marks)

c

l0 a.

b.
c

t
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c. What is Handling? FIow are handed in f']y,thon'/ Writc a Prlhon

ri) Ilndall ( ) nretlroci of Regex oilect (07 \larr,'r
c. Write a Python program to extract Phone nunrbers and L:rrarl acldresscs using l{cgLrlrLr

Irxpressions.
r""l

OR

I ol2

(07 Marks)

Marx. Marks: 100

Note: Answey any FIVE full questions, choosing Ol,,lE full question from each module.

Module-l
I-ist the salient fbatures of Pyhon Programming Language. (06 N,larlis)

I-ist and explain the Syntax of all Flor.r'control statements with cxaniplc (08 NIarks)

Write a Python progranr to calculatc' the area of circle, rectangular ancl trianglc. Print tlrc
results. (06 )larlis)

3a.
h

4a.

b

L.

Module-2
\Vhat is [,ists'] I'rxplain the concept o1'list slicing with exarrrple. (06 \larlir)
What is Dictiorrary'l How it is dil-lbrc:nt liom Lrst? Write a progran'l to corrrtt thc nunrircr oi
occurrences olcharacter in a stnng (07 }larlis)
Write a Py,thon program that accepts a sentence and find thtl number of u,ords, digits.
uppercase letters and lower case letters. (07 N'Iarks)

List out all the useful string methods *nS}rupports in Python. [rxplain with an cxamplc firr
each rncthod. (10 )Iarlis)
What is the di{fbrcncc bctr'r,een copy.copy ( ) and copv.dec;rcopl" ( ) [:ur.rction applrcahlc 1rr

a lisl or f)ictionarl, in lrython? Cive sLrrtable exanrples fbr each (06 \tarlisr
Write a Python to Swap cases o1'a given string

Input : Java

Or"rtput . jAVA" (o,l Nlarks)



6

7 a What is Cllass? []ow do we de

class members are accessed?
b. Write a Python program

and print users age and
birthday.
ll h"rstrate the concept

8

9

10

r trcs55

a. I{ow clo wc spcciflz and handle Absolute Relative Path? (08 Nlarks)
b. Irrplain thc File Reading / Writing process with suitablc Pyhon program. (06 \Iarks)
c. Writc a Py,thon program to create a foldcr PY'|HON and under the hielarchy 3 filcs

lllel , file2 and fi1e3. Write the content in filel as "VTU" and in file2 as "[,iNIVERSI'fY"
ancl flle3 content shor-rld be opening and rnerge of f-ilel and fi1e2. Check out the necessary
conclition bclirre write fi1e3. (06 \Iarks)

of

c with Pyhon

OR

(07 Marks)
(05 Marks)

(0tt \larksl
(06 Marks)
(06 Marks)

(06 Marks)

(06 Marks)
(08 Marks)

anNrN
(10 Marks)

son Module
(10 Marks)

a.

b

C.

a.

b

C.

a

b

,

JJJJ
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I-'ifth Sc nres ter l]. li. Degree lr,xa nr in atio n, .l rr ir,/r\ u g rr s l 2(12 2

Uni:< Prograffi?rmimg
l'in-r.:: ilrrs. tr,l ar.\rl lr'l's: i0rl

,\'ott:: ,trttst1er (rn-l' I"-ll'E ffull 11ue,;tiorrs, t'ltoosing t),\li /il!l 11u<,,tti*rt.fruytt r,rrrh rttrttlrr!t'.

Module-1
a. Lxplain Unix architt:ctlrre with neat diagram.
b. Explain the salienl lbatures of Unix operating systcr-n.

c. Erplain the foliorving commancls : (i) date (ii) echo

IO
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4

OR
a. [--.xlrlain thrcc c:rlcSorics o[ [llcs in r-rnir.

b. \\/ltat arc intclnal lrrrcl crl.erna1 courntattcls in Lrnix'.'[rxplain lhr-rn ri.ilir l:ilnrplLr.
Lr. l:rplain thc tbllorving conmrancls r',,itlr svntax anrl e xurlPii.

(i) cat (ii)rrir' (iii) u,c (ir,) rlkrlir

h{od lllc-?
11. [)i,'cirss thc signil]d;lncc of lhc sei'eir lrcli.ls r.,1'{s - I corrrrrrrir,,l .

h [-.r1-:ixi11 thlcc slurrrilld lilc anr] rcdircctit.ur in LLrrir.

c. [':rpIain grel] col]rlrand rvith cxanrplc.

ott
a. \\'irat trre filc penrission','Illustlutc thc clillbrcnt \r,avs o1'scttinq lltc ll iL: irtrrLis,,ii,

tr. frxPlrin shcll intcqrrctc-r cycle rr,'ith tloil,chiLrt.
c. [,:tplairr lirr anrl uhi]c corrtr"ol stati--rnr-nts in sircil sclipt ri.iiir rrrrnrirli:

)'l o tlu le -3
Explain the following API's with prototyi:e (i) open (ii) fcntl (lilr\tarlsl
Explain tlie fork ar,d v-forl< systenr cal1. How fork system callclilfers fl'om v-lbrk'/ (i0I,tnrks)

oF(
laYottt o f 

' ('progranr.

(09 \'Iarl<s)

(07 i\{il r'l{s)

(04 Marks)

(0(r L\{arl<s}

(06 l'larl<s1

(0tl VI:rrlis)

(09 3'1a rks)
(06 l\{:r rks)
(t)5 i\{arki)

11.

(10 ){arks)
(05 Marlts)
(05 Marks)

(l{} \1 alk:,)

(I{) \'1ur}i-c)

5

6

ll

b

a. With ncat skctch. crltlain nlentory
b. l:rplain the sct jrnp( ) and longjnrp

(10 Marlis)
( ) functions with an example C/Cl--. prograln

(10 i\{trhs)

l\'l oclu le-4
a. What are pipes? Explain diflbrent r,vays to vier.v a half:duplex prpe. Wntc a C/C1 1 progranl

to send data fiom parent process to child process r-rsing pipes (10lilarks)
b. What is FIFO? \,Vith a neat diagram, explain the client-srlrver c()mnrLrnication using Irllro

(10 Marl<s)

()lt
a. Wrile a riote on: (i) Proccss Accorinting (ii) Process l'inrt'
l-r. L-xplain brrcll,v u,ith cxar-n1"rlc : (i) N4essage Queuc 1ii)

hIocluIe-5

7

tt

Seuraphorc

9 a. Whal arc clacrr-ron ltroccss'.) N4ention ancl crplain coclrng i'Lrlcs o1'cllicrllL)n t)r'(iccs:i. (l() \Iir r'I.:-rt

lr. [xplaur ltill();\l'}lrncl alerm( )API. (l0lll.li:'r

oR
l0 i1. i)e llrrc sisnal. lrrplaiir Srgactior ,\PIlr jtir rlcnrlrrstlatin;: pr', ,*'r'.nrr, (l().\lurli:,,

b. \\rhal is r:rror loggir-rg'l With i.r ucat block ciiagrarn. rliscus:; thc i:rrurr lLrr:in lircilrtv in IlSil
(I{) }lark:r

D
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